# Division (International) with a Helper Grid Name:

Solve each problem. Answers
1) 'gg3: 8 = 2 174 : 3 =
1.
2.
3.
4,
5.
6.
3 342 : 7 = 4 270: 9 =
5 115 : 5 = 6) 679 : 8 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 883 : 8 =110r3 2 174 : 3 =058
1 110r3
-8 -0
0/8 7
-8 -11/5 2. 58
2 4
0|3 3. 48 r6
-0 -124
3 0 . 30
5 23
6. 84r7
3 342 : 7 =048r6 4 270: 9 =030
-0 -0
34 2.7
-12/8 -127
6 2 00
-15'6 -0
6 0
5 115: 5 =023 6) 679 : 8 =084r7
_O _O
11 67
-11/0 - 64
15 39
-115 -3 2
0 7

1-6 |83]|67]50[33][17] 0 |

[ M ath ] www.CommonCoreSheets.com




	Worksheet
	Answer Key

